
 QP Code:18UT156AOC3 QP Code:18UT156AOC3 2  

B.A./B.Sc/B.Com.-11554-Y  [ ¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.A./B.Sc/B.Com.-11554-Y   

¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı̨œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2017 › Ê≈Ú, 2018 (December-2017 & June-2018) 

Ù¬ø˘Ó¬ ¬Û±Í¬Sê˜  
( Application Oriented Course) 

·±˝«√√¶ö… ¬ı˛¸± ˛̊Ú  
Household Chemistry : AOC-3  

¸˜˚˛ – øÓ¬Ú√ ‚KI◊± ¬(Time : 3 hours)  
Û”Ì«˜±Ú – 100 (Full Marks : 100) 
˜±ÀÚ¬ı˛ &èQ – 70% (Weightage of Marks : 70%) 

¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ Œfl¡ÀÈ¬ 

ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

  ø¬ıˆ¬±· - fl¡ 
1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú º 20 × 2 = 40 

 [fl¡] [’] õ∂¸±ÒÚ ¸±˜¢∂œ ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±ÀÁ¡Ú ∑ Î¬◊»fl‘¡©Ü 
õ∂¸±ÒÚ ¸±˜¢∂œ¬ı˛ ˘é¬Ì fl¡œ fl¡œ ∑ õ∂¸±ÒÚ ¸±˜¢∂œ 
¬ı…¬ı˝√√±À¬ı˛¬ı˛ Œé¬ÀS fl¡œ fl¡œ ¸±¬ıÒ±ÚÓ¬± ¢∂˝√√Ì fl¡¬ı˛± 
Î¬◊ø‰¬Ó¬ ∑ ¤fl¡øÈ¬ ’±√˙« ›á¬¬ı˛?Àfl¡¬ı˛ ¸—˚≈øÓ¬ ¸•§Àg 
Ò±¬ı˛Ì± ø√Úº 2 + 3 + 3 + 2   

  [’±] ¢∂œÚ˝√√±Î¬◊¸ ·…±¸ ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±Á¡±˚˛ ∑ øÓ¬ÚøÈ¬ 
¤¬ı˛+¬Û ·…±À¸¬ı˛ Ú±˜ fl¡èÚº ¬ı±˚˛≈˜GÀ˘¬ ›ÀÊ√±Ú ô¶¬ı˛ 
fl¡œˆ¬±À¬ı ¸‘©Ü ˝√√̊ ˛ ∑ ¤¬ı˛ ø¬ıÚ±˙   fl¡œˆ¬±À¬ı  ‚ÀÈ¬ ∑ 
¤˝◊√√ ø¬ıÚ±˙ ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ Î¬◊¬Û¬ı˛ fl¡œ õ∂ˆ¬±¬ı ŒÙ¬À˘ ∑  

     2 + 2 + 2 + 2 + 2 

 [‡] [’] ’•°¬ı‘ø©Ü fl¡œ ∑ fl¡œˆ¬±À¬ı ¤øÈ¬ ¸‘©Ü ˝√√̊ ˛ ∑ ¬Ûø¬ı˛À¬ıÀ˙¬ı˛ 
Î¬◊¬Û¬ı˛ ¤¬ı˛ õ∂ˆ¬±¬ı fl¡œ ∑ ’•°¬ı‘ø©Ü fl¡œˆ¬±À¬ı øÚ˚˛LaÌ 
fl¡¬ı˛± ˚±˚˛ ∑ 2 + 2 + 3 + 3 

  [’±] Ê√À˘¬ı˛ ’øÓ¬À¬ÛÃø©Üfl¡Ó¬± ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±Á¡±˚˛ ∑ ¤¬ı˛ 
Ù¬À˘ fl¡œ ‚ÀÈ¬ ∑ ¤˝◊√√ ¸˜¸…± ¸˜±Ò±ÀÚ¬ı˛ ¸y±¬ı… 
Î¬◊¬Û±˚˛&ø˘ ø˘‡≈Úº 2 + 3 + 5 

 [·] ¬[’] ‰¬ø¬ı« › ŒÓ¬À˘¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… fl¡œ ∑ ¤À√¬ı˛ 
¬ı˛±¸±˚˛øÚfl¡ õ∂fl‘¡øÓ¬ ’±À˘±‰¬Ú± fl¡èÚº Î¬◊øæ√7¡¡¡ ŒÓ¬˘ 
ŒÔÀfl¡ ¬ıÚ¶ÛøÓ¬ ∆Ó¬ø¬ı˛¬ı˛ ø˙ä-¬ÛXøÓ¬ ’±À˘±‰¬Ú± 
fl¡èÚº  3 + 3 + 4 

  [’±] fl¡˚˛˘±¬ı˛ Œ|øÌø¬ıˆ¬±· fl¡œˆ¬±À¬ı fl¡¬ı˛± ˝√√̊ ˛ ∑ ø¬ıøˆ¬iß 
Œ|øÌ¬ı˛ fl¡˚˛˘±¬ı˛ ∆¬ıø˙©Ü…&ø˘ ø˘ø¬Û¬ıX fl¡èÚº 
;±˘±øÚ¬ı˛ Ó¬±¬ÛÚ˜”˘… fl¡œˆ¬±À¬ı õ∂fl¡±˙ fl¡¬ı˛± ˝√√̊ ˛ ∑ 

     3 + 5 + 2  

 [‚] ¬[’] ø‰¬¬ı˛±‰¬ø¬ı˛Ó¬ ˙øMê√ ¤¬ı— ’ø‰¬¬ı˛±‰¬ø¬ı˛Ó¬ ˙øMê√¬ı˛ ˜ÀÒ… 
¬Û±Ô«fl¡… ø˘‡≈Úº ’ø‰¬¬ı˛±‰¬ø¬ı˛Ó¬ ˙øMê√¬ı˛ ¬Ûø¬ı˛‰¬˚˛ ø√Ú 
¤¬ı— ¤À√¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ¸•§Àg ’±À˘±‰¬Ú± fl¡èÚº 
ˆ¬±¬ı˛ÀÓ¬¬ı˛ ˜Ó¬ Î¬◊ißÓ¬˙œ˘ Œ√À˙ Œfl¡±Úƒ ’ø‰¬¬ı˛±‰¬ø¬ı˛Ó¬ 
˙øMê√ Œ¬ıø˙ fl¡±˚«fl¡¬ı˛ ˆ”¬ø˜fl¡± ¬Û±˘Ú fl¡¬ı˛À¬ı ∑ 
˚≈øMê√̧ ˝√√ Î¬◊M√√¬ı˛ ø√Úº 3 + 5 + 4 

  [’±] ŒÙ¬Ú˘ Ù¬¬ı˛˜…±˘øÎ¬˝√√±˝◊√√Î¬ Œ¬ı˛øÊ√Ú fl¡œˆ¬±À¬ı õ∂dÓ¬ 
fl¡¬ı˛À¬ıÚ ∑ ¤À√¬ı˛ ¬ı˛±¸˚˛øÚfl¡ ·Í¬Ú › ¬ı…¬ı˝√√±¬ı˛ 
ø˘‡≈Úº 5 + 2 + 1 
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ø¬ıˆ¬±· - ‡¡ 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú º 12 × 3 = 36 

 [fl¡]  [’] õ∂±fl‘¡øÓ¬fl¡ ·…±¸ ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±Á¡±˚˛ ∑ ›˚˛±È¬±¬ı˛ 

·…±¸ ¤¬ı— õ∂øÎ¬Î¬◊¸±¬ı˛ ·…±¸ fl¡œˆ¬±À¬ı õ∂dÓ¬ 

fl¡¬ı˛À¬ıÚ ∑ ø¬ıøSê˚˛±¬ı˛ ¸˜œfl¡¬ı˛Ì ø˘‡≈Úº õ∂ÀÓ¬…fl¡øÈ¬ 

·…±À¸¬ı˛ ¬ı…¬ı˝√√±¬ı˛ ø˘‡≈Úº 2 + 3 + 2 + 2  

  [’±] fl¡øÍ¬Ú ;±˘±Úœ ’À¬Ûé¬± Ó¬¬ı˛˘ ;±˘±Úœ ¬ı…¬ı˝√√±À¬ı˛¬ı˛ 

¸≈ø¬ıÒ± fl¡œ ∑  3 

 [‡] ÚœÀ‰¬¬ı˛ ∆Ê√¬ı Œ˚Ã·&ø˘ fl¡œ Î¬◊¬Û±À˚˛ ¸—Àù≠¯∏Ì fl¡¬ı˛À¬ıÚ ∑ 

õ∂ÀÓ¬…fl¡ Œé¬ÀS ø¬ıøSê˚˛±¬ı˛ ¸˜œfl¡¬ı˛Ì øÚ√º ¤À√¬ı˛ ¬ı…¬ı˝√√±¬ı˛ 

¸•§Àg ø˘‡≈Ú – 

  [’] ¸±˘ Ù¬±øÚ˘±˜±˝◊√√Î¬ 

  [’±] ¸±˘Ù¬±ø¬Ûø¬ı˛øÎ¬√Ú 

  [˝◊√√] ¸±˘Ù¬±Ô±˚˛±ÀÊ±√̆ º 4 + 4 + 4 

 [·] [’] ’¶ö±˚˛œ ¬ı˛?fl¡ ¤¬ı— ¶ö±˚˛œ ¬ı˛?fl¡ ¬Û√±Ô« ¸•§Àg       

¸—øé¬5 ’±À˘±‰¬Ú± fl¡èÚº 3 + 3 

  [’±] È¬…±˘fl¡˜ ¬Û±Î¬◊Î¬±À¬ı˛¬ı˛ Î¬◊¬Û±√±øÚfl¡ ·Í¬Ú ’±À˘±‰¬Ú± 

fl¡èÚº 6  

 [‚] [’] Sêœ˜ õ∂døÓ¬¬ı˛ ø¬ıøˆ¬iß Î¬◊¬Û±√±Ú&ø˘ ø˘‡≈Ú › 
Î¬◊¬Û±√±Ú&ø˘¬ı˛ fl¡±Ê√ ¬ı ≈̆Úº 3 + 3  

  [’±] ˆ¬±À˘± ›á¬¬ı˛?Àfl¡¬ı˛ øfl¡ øfl¡ &Ì±¬ı˘œ Ô±fl¡± 
õ∂À˚˛±Ê√√Ú ∑ ¶ö±˚˛œ ‰≈¬˘¬ı˛?Àfl¡¬ı˛ ≈√øÈ¬ ¸—À˚±Ê√fl¡ 
¬Û√±ÀÔ«¬ı˛ Ú±˜ ø˘‡≈Úº 4 + 2  

 [„√√] Œ˚-Œfl¡±ÀÚ± ¬Û±“‰¬øÈ¬ ¬ı±˚˛≈”√̄ ∏fl¡ ¬Û√±ÀÔ«¬ı˛ Ú±˜, Ó¬±À√¬ı˛ Î¬◊»¸ 
› é¬øÓ¬fl¡±¬ı˛fl¡ õ∂ˆ¬±¬ı ¸•§Àg ’±À˘±‰¬Ú± fl¡èÚº  

     3 + 4 + 5 

 [‰¬] [’] ¬Û…±¬ı˛±ø¸È¬±˜˘ Œ˚Ã·øÈ¬¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ ·Í¬Ú ø˘‡≈Úº 
¤˝◊√√ Œ˚Ã·øÈ¬ fl¡œˆ¬±À¬ı ¸—Àù≠¯∏Ì fl¡¬ı˛À¬ıÚ ∑ 
ø¬ıøSê˚˛±¬ı˛ ¸˜œfl¡¬ı˛Ì øÚ√º ¬Û…±¬ı˛±ø¸È¬±˜˘ Œfl¡±Úƒ 
Œ¬ı˛±À·¬ı˛ Î¬◊¬Û˙À˜¬ı˛ Ê√Ú… ¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛± ˝√√̊ ˛ ∑ 

     1 + 3 + 1 + 1 

  [’±] ˚é¬±, È¬±˝◊√√Ù¬À˚˛Î¬ ¤¬ı— øÚÎ¬◊À˜±øÚ˚˛± øÚ¬ı̨±˜À˚˛¬ı˛ Ê√Ú… 
¤fl¡øÈ¬ fl¡À¬ı˛ ›¯∏≈ÀÒ¬ı˛ Ú±˜ ¤¬ı— ·Í¬Ú ø˘‡≈Úº 

     2 + 2 + 2 

ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6  × 4 = 24 

 [fl¡] LSD ›¯∏≈ÒøÈ¬¬ı˛ ¬ı˛±¸±˚˛øÚfl¡ Ú±˜ fl¡œ ∑ ¤˝◊√√ ›¯∏≈ÒøÈ¬ Œfl¡Ú 
¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛± ˝√√̊ ˛ ∑ ›¯∏≈ÒøÈ¬ Œ¬ıø˙ø√Ú ¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛À˘ fl¡œ 
‚ÀÈ¬ ∑ 2 + 2 + 2 
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 [‡] fl≈¡˝◊√√øÚÚ Œfl¡±Ô± ŒÔÀfl¡ ¸—¢∂˝√√ fl¡¬ı˛± ˝√√̊ ˛ ∑ Î¬◊»¸ ŒÔÀfl¡     

¸—¢∂À˝√√¬ı˛ ¬ÛXøÓ¬ ’±À˘±‰¬Ú± fl¡èÚº  2 + 4  

 [·] ø˜Ô±˝◊√√̆  ¸…±ø˘¸±˝◊√√À˘È¬ fl¡œˆ¬±À¬ı õ∂dÓ¬ fl¡¬ı˛À¬ıÚ ∑ 

¬ı˛±¸±˚˛øÚfl¡ ¸˜œfl¡¬ı˛Ì ø˘‡≈Úº ¤˝◊√√ ›¯∏≈ÒøÈ¬ ¬ı…¬ı˝√√±À¬ı˛¬ı˛ 

Î¬◊¬Ûfl¡±ø¬ı˛Ó¬± ¸•§Àg ’±À˘±fl¡¬Û±Ó¬ fl¡èÚº 2 + 2 + 2 

 [‚] ¬ı˛±iß±¬ı˛ Ê√Ú… ;±˘±Úœ ø˝√√̧ ±À¬ı fl¡˚˛˘± ’À¬Ûé¬± ·…±¸ 

¬ı…¬ı˝√√±À¬ı˛¬ı˛ ¸≈ø¬ıÒ± fl¡œ fl¡œ ∑¬ ı˛±iß±¬ı˛ ·…±À¸¬ı˛ ·gøÈ¬ fl¡œÀ¸¬ı˛ 

Ê√Ú… ∑ ¤øÈ¬ Œfl¡Ú  Œ˚±· fl¡¬ı˛± ˝√√̊ ˛ ∑ 2 + 2 + 2  

 [„√√] ¸±¬ı±Ú › ¬Ûø¬ı˛©®±¬ı˛Àfl¡¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡…&ø˘ ø˘‡≈Úº ‡¬ı̨ 

Ê√̆  fl¡±Àfl¡ ¬ıÀ˘ ∑ ‡¬ı˛Ó¬±¬ı˛ ˜±S± fl¡±Àfl¡ ¬ıÀ˘ ∑  

    3 + 2 + 1 

 [‰¬] ø¬ı.›.øÎ¬. › ø¸. › øÎ¬.  (B.O.D. › C.O.D.) -¤¬ı˛ 

¬Û±Ô«fl¡…&ø˘ ø˘‡≈Úº ˆ¬±À˘± ¬ı±øÚ«À˙¬ı˛ fl¡œ fl¡œ ∆¬ıø˙©Ü… 

Ô±fl¡± õ∂À˚˛±Ê√Ú ∑ 3 + 3  

 [Â√] Œ¬ÛKI◊ ¤¬ı— ¬ı±øÚ«À˙¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡…&ø˘ ø˘‡≈Úº 6  

 [Ê√√] ¬ı˛„√√ ˘±·±¬ı±¬ı˛ ø¬ıøˆ¬iß ¬ÛXøÓ¬&ø˘ Î¬◊À~‡ fl¡èÚ ¤¬ı— 

Ó¬±À√¬ı˛ ¸—øé¬5 ø¬ı¬ı¬ı˛Ì ø√Úº 6 

( English Version ) 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

Group-A 

1. Answer any two questions.  20 × 2 = 40 

 A. (a) What do you mean by cosmetic ? 

What are the criteria of good 

cosmetic ? What precautions are to 

be taken in using cosmetic ? Give 

an idea of the composition of an 

ideal lipstick. 2 + 3 + 3 + 2 

  (b) What is meant by greenhouse     

gas ? Name three such gases. How 

is ozone layer of atmosphere 

formed ? How is its depletion 

occurred ? What are the effects of 

such depletion on atmosphere ? 

     2 + 2 + 2 + 2 + 2 

 B. (a) What is acid rain ? How is it   

formed ? What are its effects on 

atmosphere ? How can acid rain be 

controlled ? 2 + 2 + 3 + 3     
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  (b) What is meant by Eutrophication of 

water ? What are its effects ? Write 

down the possible ways to solve 

this problem. 2 + 3 + 5  

 C. (a) What are the differences between 

oils and fats ? Discuss their 

chemical nature. Discuss the 

industrial method of manufacture 

of Vanaspati from vegetable oils.  

     3 + 3 + 4 

  (b) How is coal classified ? Write down 

the characteristics of different 

classes of coal. How is calorific 

value of fuel expressed ? 3 + 5 + 2 

 D. (a) Write the differences between 

conventional and non-conventional 

energies. Give introduction to the 

non-conventional energies and 

discuss their uses. Which non-

conventional energy will be more 

useful for the developing country 

like India ? Give answers with 

reasons. 3 + 5 + 4  

  (b) How would you prepare phenol 

formaldehyde resin ? Write their 

chemical structures and uses. 

     5 + 2 + 1 

Group - B 

2. Answer any three questions  :  12 × 3 = 36 

 A. (a) What is meant by natural gas ? 

How would you prepare water gas 

and producer gas ? Write equations 

for the reactions. Write the uses of 

each of the gases. 2 + 3 + 2 + 2   

  (b) What are the advantages of using 

liquid fuels over solid fuels ? 3 

 B. How would you synthesise the following 

organic compounds ? Write the 

chemical equations for each. Give their 

uses : 

  a) Sulphanilamide 

  b) Sulphapyridine 

  c) Sulphathiazole. 4 + 4 + 4 
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 C. (a) Discuss briefly, about the 

temporary dyes and permanent 

dyes. 3 + 3 

  (b) Discuss the composition of Talcum 

power. 6  

 D. (a) Write the names of different 

components required for the 

preparation of cream and write the 

role of each component. 3 + 3 

  (b) What are the necessary 

characteristics of a good lipstick ? 

Name two additives of a permanent 

hair dye. 4 + 2 

 E. Name any five air pollutants, their 

sources and discuss harmful effects 

about them. 3 + 4 + 5 

 F. (a) Write the chemical structure of 

Paracetamol. How would you 

synthesise this compound ? Give 

equations for the reaction. What 

are the diseases for which 

Paracetamol is used ? 1 + 3 + 1 + 1 

  (b) Write the name and structure of 

one medicine each used for curing 

Tuberculosis, Typhoid and 

Pneumonia. 2 + 2 + 2 

Group - C 

3. Answer any four questions.  6 × 4 = 24 

 A. What is the chemical name of the 

medicine, LSD ? Why is this medicine 

used ? What does it affect if this 

medicine is used for a long time ? 

    2 + 2 + 2 

 B. Where from is quinine isolated ? 

Discuss the method of collection from 

the source. 2 + 4  

 C. How would you prepare methyl 

salicylate ? Write the chemical 

equation. Write the utility of this 

medicine. 2 + 2 + 2 
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 D. What are the advantages of using gas 

over coal as fuel for cooking ? What 

causes the smell of the cooking gas ? 

Why is it added ? 2 + 2 + 2 

 E. Write the differences between soap and 

detergent. What is meant by hard   

water ? What is degree of hardness ? 

    3 + 2 + 1 

 F. Write the differences between B.O.D. 

and C.O.D. What  should have the 

qualities of a good varnish ? 3 + 3   

 G. Write the differences between paints 

and varnishes. 6 

 H. Mention the different methods for 

paintings and discuss them shortly. 6 

    
 


